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clc

clear all
close all

f = '"4xsin (2*pi*t)';

ezplot (f);
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clc
clear all
close all

n 100000;
Pp = .5;

means = binornd(n,p,1000,1);
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clc
clear all
close all

f = '4xsin(2*pix*t)';

symNum = 1/Fs;

samples = zeros(1l,symNum);
counter = 1;
for t=0:.05:1

samples (counter) = subs(f,t);
counter = counter + 1;

end
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public ThreadQueue newThreadQueue(boolean transferPriority) {

return new LotteryQueue(transferPriority) ;

protected class LotteryQueue extends ThreadQueue{

public boolean transP;

private LinkedList<KThread> waitingUser;

public LotteryQueue(boolean transP){

this.transP = transP;

waitingUser = new LinkedList<KThread>() ;
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public void acquire(KThread thread) {
Lib.assertTrue (Machine.interrupt () .disabled ());
getThreadState (thread) .acquire (this) ;
}
public KThread nextThread () {
Lib.assertTrue (Machine.interrupt () .disabled ());
if (vaitingUser.size() < 1){
return null;
Yelseq{
int totalTickets;
if (transP){
totalTickets = getTotalEffectiveTickets () ;
Yelse{
totalTickets = getSumCard() ;
}
int lotteryNumber = new Random().nextInt(totalTickets);
Collections.sort(waitingUser, new Comparator<KThread>(){
b;
}
return null;
}
}
}
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for i:=maxint to 0 do
begin
{ do nothing }
end;
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